Multiply and Divide by 0.01 (A)

Find each product or quotient.

$$2.1 \div 0.01 =$$

$$4.06 \div 0.01 =$$

$$3.34 \div 0.01 =$$

$$1.9 \div 0.01 =$$

$$4.8818 \div 0.01 =$$

$$1.3 \div 0.01 =$$

$$8.52 \times 0.01 =$$

$$0.6 \div 0.01 =$$

$$5.009 \div 0.01 =$$

$$7.1 \times 0.01 =$$

$$7.08 \div 0.01 =$$

$$6 \times 0.01 =$$

$$0.7949 \div 0.01 =$$

$$1 \div 0.01 =$$

$$5.81 \times 0.01 =$$

$$5.19 \times 0.01 =$$

$$7.934 \times 0.01 =$$

$$2.4663 \div 0.01 =$$

$$6.71 \div 0.01 =$$

$$9.1 \times 0.01 =$$

Multiply and Divide by 0.01 (A) Answers

Find each product or quotient.

$$2.1 \div 0.01 = 210$$

$$4.06 \div 0.01 = 406$$

$$3.34 \div 0.01 = 334$$

$$1.9 \div 0.01 = 190$$

$$4.8818 \div 0.01 = 488.18$$

$$1.3 \div 0.01 = 130$$

$$8.52 \times 0.01 = 0.0852$$

$$0.6 \div 0.01 = 60$$

$$5.009 \div 0.01 = 500.9$$

$$7.1 \times 0.01 = 0.071$$

$$7.08 \div 0.01 = 708$$

$$6 \times 0.01 = 0.06$$

$$0.7949 \div 0.01 = 79.49$$

$$1 \div 0.01 = 100$$

$$5.81 \times 0.01 = 0.0581$$

$$5.19 \times 0.01 = 0.0519$$

$$7.934 \times 0.01 = 0.07934$$

$$2.4663 \div 0.01 = 246.63$$

$$6.71 \div 0.01 = 671$$

$$9.1 \times 0.01 = 0.091$$

Multiply and Divide by 0.01 (B)

Find each product or quotient.

$$5.1588 \div 0.01 =$$

$$9.8 \times 0.01 =$$

$$1.6434 \times 0.01 =$$

$$6.41 \div 0.01 =$$

$$9.85 \div 0.01 =$$

$$6.83 \times 0.01 =$$

$$5.937 \div 0.01 =$$

$$3.6067 \times 0.01 =$$

$$0.7014 \div 0.01 =$$

$$8.9231 \times 0.01 =$$

$$8.01 \times 0.01 =$$

$$4.126 \div 0.01 =$$

$$4.2 \div 0.01 =$$

$$5.258 \div 0.01 =$$

$$0 \div 0.01 =$$

$$8.73 \times 0.01 =$$

$$8.68 \times 0.01 =$$

$$4.152 \div 0.01 =$$

$$8.438 \div 0.01 =$$

$$8.2034 \times 0.01 =$$

Multiply and Divide by 0.01 (B) Answers

Find each product or quotient.

$$5.1588 \div 0.01 = 515.88$$

$$9.8 \times 0.01 = 0.098$$

$$1.6434 \times 0.01 = 0.016434$$

$$6.41 \div 0.01 = 641$$

$$9.85 \div 0.01 = 985$$

$$6.83 \times 0.01 = 0.0683$$

$$5.937 \div 0.01 = 593.7$$

$$3.6067 \times 0.01 = 0.036067$$

$$0.7014 \div 0.01 = 70.14$$

$$8.9231 \times 0.01 = 0.089231$$

$$8.01 \times 0.01 = 0.0801$$

$$4.126 \div 0.01 = 412.6$$

$$4.2 \div 0.01 = 420$$

$$5.258 \div 0.01 = 525.8$$

$$0 \div 0.01 = 0$$

$$8.73 \times 0.01 = 0.0873$$

$$8.68 \times 0.01 = 0.0868$$

$$4.152 \div 0.01 = 415.2$$

$$8.438 \div 0.01 = 843.8$$

$$8.2034 \times 0.01 = 0.082034$$

Multiply and Divide by 0.01 (C)

Find each product or quotient.

$$6.202 \div 0.01 =$$

$$9.7348 \times 0.01 =$$

$$0.736 \div 0.01 =$$

$$9.9 \div 0.01 =$$

$$4.8 \div 0.01 =$$

$$2.571 \times 0.01 =$$

$$5.9 \times 0.01 =$$

$$2.539 \div 0.01 =$$

$$0.2 \div 0.01 =$$

$$5.293 \times 0.01 =$$

$$5.4 \div 0.01 =$$

$$0.577 \times 0.01 =$$

$$5.647 \div 0.01 =$$

$$2.221 \div 0.01 =$$

$$5.1 \times 0.01 =$$

$$7 \times 0.01 =$$

$$3.3684 \times 0.01 =$$

$$8.9924 \div 0.01 =$$

$$6.8 \times 0.01 =$$

$$1.1 \times 0.01 =$$

Multiply and Divide by 0.01 (C) Answers

Find each product or quotient.

$$6.202 \div 0.01 = 620.2$$

$$9.7348 \times 0.01 = 0.097348$$

$$0.736 \div 0.01 = 73.6$$

$$9.9 \div 0.01 = 990$$

$$4.8 \div 0.01 = 480$$

$$2.571 \times 0.01 = 0.02571$$

$$5.9 \times 0.01 = 0.059$$

$$2.539 \div 0.01 = 253.9$$

$$0.2 \div 0.01 = 20$$

$$5.293 \times 0.01 = 0.05293$$

$$5.4 \div 0.01 = 540$$

$$0.577 \times 0.01 = 0.00577$$

$$5.647 \div 0.01 = 564.7$$

$$2.221 \div 0.01 = 222.1$$

$$5.1 \times 0.01 = 0.051$$

$$7 \times 0.01 = 0.07$$

$$3.3684 \times 0.01 = 0.033684$$

$$8.9924 \div 0.01 = 899.24$$

$$6.8 \times 0.01 = 0.068$$

$$1.1 \times 0.01 = 0.011$$

Multiply and Divide by 0.01 (D)

Find each product or quotient.

$$8.8 \div 0.01 =$$

$$2.1801 \times 0.01 =$$

$$4.175 \div 0.01 =$$

$$1.7 \div 0.01 =$$

$$5.3 \div 0.01 =$$

$$8.92 \div 0.01 =$$

$$5.504 \div 0.01 =$$

$$6 \div 0.01 =$$

$$3.7532 \div 0.01 =$$

$$5.553 \div 0.01 =$$

$$2.6 \div 0.01 =$$

$$8.527 \times 0.01 =$$

$$6.177 \times 0.01 =$$

$$1.21 \div 0.01 =$$

$$8.218 \div 0.01 =$$

$$8.9 \div 0.01 =$$

$$1.4008 \times 0.01 =$$

$$2.478 \times 0.01 =$$

$$9.652 \times 0.01 =$$

$$8.4 \div 0.01 =$$

Multiply and Divide by 0.01 (D) Answers

Find each product or quotient.

$$8.8 \div 0.01 = 880$$

$$2.1801 \times 0.01 = 0.021801$$

$$4.175 \div 0.01 = 417.5$$

$$1.7 \div 0.01 = 170$$

$$5.3 \div 0.01 = 530$$

$$8.92 \div 0.01 = 892$$

$$5.504 \div 0.01 = 550.4$$

$$6 \div 0.01 = 600$$

$$3.7532 \div 0.01 = 375.32$$

$$5.553 \div 0.01 = 555.3$$

$$2.6 \div 0.01 = 260$$

$$8.527 \times 0.01 = 0.08527$$

$$6.177 \times 0.01 = 0.06177$$

$$1.21 \div 0.01 = 121$$

$$8.218 \div 0.01 = 821.8$$

$$8.9 \div 0.01 = 890$$

$$1.4008 \times 0.01 = 0.014008$$

$$2.478 \times 0.01 = 0.02478$$

$$9.652 \times 0.01 = 0.09652$$

$$8.4 \div 0.01 = 840$$

Multiply and Divide by 0.01 (E)

Find each product or quotient.

$$7.653 \times 0.01 =$$

$$2 \times 0.01 =$$

$$1.4515 \times 0.01 =$$

$$7.203 \times 0.01 =$$

$$5.1 \times 0.01 =$$

$$9.1262 \div 0.01 =$$

$$6 \div 0.01 =$$

$$9.64 \div 0.01 =$$

$$2.9504 \div 0.01 =$$

$$2.4929 \div 0.01 =$$

$$0.1 \times 0.01 =$$

$$8.46 \times 0.01 =$$

$$9.11 \div 0.01 =$$

$$1.695 \div 0.01 =$$

$$7.9 \times 0.01 =$$

$$5.092 \div 0.01 =$$

$$6.811 \div 0.01 =$$

$$5.8897 \times 0.01 =$$

$$6.8818 \div 0.01 =$$

$$4.32 \div 0.01 =$$

Multiply and Divide by 0.01 (E) Answers

Find each product or quotient.

$$7.653 \times 0.01 = 0.07653$$

$$2 \times 0.01 = 0.02$$

$$1.4515 \times 0.01 = 0.014515$$

$$7.203 \times 0.01 = 0.07203$$

$$5.1 \times 0.01 = 0.051$$

$$9.1262 \div 0.01 = 912.62$$

$$6 \div 0.01 = 600$$

$$9.64 \div 0.01 = 964$$

$$2.9504 \div 0.01 = 295.04$$

$$2.4929 \div 0.01 = 249.29$$

$$0.1 \times 0.01 = 0.001$$

$$8.46 \times 0.01 = 0.0846$$

$$9.11 \div 0.01 = 911$$

$$1.695 \div 0.01 = 169.5$$

$$7.9 \times 0.01 = 0.079$$

$$5.092 \div 0.01 = 509.2$$

$$6.811 \div 0.01 = 681.1$$

$$5.8897 \times 0.01 = 0.058897$$

$$6.8818 \div 0.01 = 688.18$$

$$4.32 \div 0.01 = 432$$

Multiply and Divide by 0.01 (F)

Find each product or quotient.

$$9.67 \div 0.01 =$$

$$7.419 \div 0.01 =$$

$$7.1 \div 0.01 =$$

$$6.947 \times 0.01 =$$

$$6.5 \times 0.01 =$$

$$7.442 \div 0.01 =$$

$$8.61 \times 0.01 =$$

$$2.3984 \times 0.01 =$$

$$3.906 \div 0.01 =$$

$$4.55 \div 0.01 =$$

$$2.946 \times 0.01 =$$

$$0.3 \times 0.01 =$$

$$9.85 \div 0.01 =$$

$$7.431 \div 0.01 =$$

$$0.9295 \div 0.01 =$$

$$9.36 \div 0.01 =$$

$$8.38 \div 0.01 =$$

$$5.4 \times 0.01 =$$

$$0.21 \div 0.01 =$$

$$9.4 \div 0.01 =$$

Multiply and Divide by 0.01 (F) Answers

Find each product or quotient.

$$9.67 \div 0.01 = 967$$

$$7.419 \div 0.01 = 741.9$$

$$7.1 \div 0.01 = 710$$

$$6.947 \times 0.01 = 0.06947$$

$$6.5 \times 0.01 = 0.065$$

$$7.442 \div 0.01 = 744.2$$

$$8.61 \times 0.01 = 0.0861$$

$$2.3984 \times 0.01 = 0.023984$$

$$3.906 \div 0.01 = 390.6$$

$$4.55 \div 0.01 = 455$$

$$2.946 \times 0.01 = 0.02946$$

$$0.3 \times 0.01 = 0.003$$

$$9.85 \div 0.01 = 985$$

$$7.431 \div 0.01 = 743.1$$

$$0.9295 \div 0.01 = 92.95$$

$$9.36 \div 0.01 = 936$$

$$8.38 \div 0.01 = 838$$

$$5.4 \times 0.01 = 0.054$$

$$0.21 \div 0.01 = 21$$

$$9.4 \div 0.01 = 940$$

Multiply and Divide by 0.01 (G)

Find each product or quotient.

$$6.18 \div 0.01 =$$

$$1.16 \div 0.01 =$$

$$5.9263 \div 0.01 =$$

$$5.9 \times 0.01 =$$

$$6.212 \div 0.01 =$$

$$0.2 \times 0.01 =$$

$$2.28 \div 0.01 =$$

$$5.5492 \div 0.01 =$$

$$8.356 \div 0.01 =$$

$$2.983 \div 0.01 =$$

$$8.2 \div 0.01 =$$

$$1.7411 \times 0.01 =$$

$$9.024 \times 0.01 =$$

$$5.5788 \times 0.01 =$$

$$8.048 \times 0.01 =$$

$$3.79 \times 0.01 =$$

$$7.7 \div 0.01 =$$

$$1.26 \times 0.01 =$$

$$6.9968 \times 0.01 =$$

$$0.6379 \times 0.01 =$$

Multiply and Divide by 0.01 (G) Answers

Find each product or quotient.

$$6.18 \div 0.01 = 618$$

$$1.16 \div 0.01 = 116$$

$$5.9263 \div 0.01 = 592.63$$

$$5.9 \times 0.01 = 0.059$$

$$6.212 \div 0.01 = 621.2$$

$$0.2 \times 0.01 = 0.002$$

$$2.28 \div 0.01 = 228$$

$$5.5492 \div 0.01 = 554.92$$

$$8.356 \div 0.01 = 835.6$$

$$2.983 \div 0.01 = 298.3$$

$$8.2 \div 0.01 = 820$$

$$1.7411 \times 0.01 = 0.017411$$

$$9.024 \times 0.01 = 0.09024$$

$$5.5788 \times 0.01 = 0.055788$$

$$8.048 \times 0.01 = 0.08048$$

$$3.79 \times 0.01 = 0.0379$$

$$7.7 \div 0.01 = 770$$

$$1.26 \times 0.01 = 0.0126$$

$$6.9968 \times 0.01 = 0.069968$$

$$0.6379 \times 0.01 = 0.006379$$

Multiply and Divide by 0.01 (H)

Find each product or quotient.

$$0.9 \times 0.01 =$$

$$3.6 \div 0.01 =$$

$$0.9285 \div 0.01 =$$

$$7.476 \times 0.01 =$$

$$8.3891 \div 0.01 =$$

$$2.3988 \div 0.01 =$$

$$9.9 \times 0.01 =$$

$$4.3 \times 0.01 =$$

$$5.79 \div 0.01 =$$

$$3.9025 \div 0.01 =$$

$$4.88 \div 0.01 =$$

$$7.91 \times 0.01 =$$

$$8.638 \div 0.01 =$$

$$0.83 \div 0.01 =$$

$$5.209 \times 0.01 =$$

$$1.776 \times 0.01 =$$

$$0.66 \div 0.01 =$$

$$2.81 \times 0.01 =$$

$$6.38 \div 0.01 =$$

$$0.42 \div 0.01 =$$

Multiply and Divide by 0.01 (H) Answers

Find each product or quotient.

$$0.9 \times 0.01 = 0.009$$

$$3.6 \div 0.01 = 360$$

$$0.9285 \div 0.01 = 92.85$$

$$7.476 \times 0.01 = 0.07476$$

$$8.3891 \div 0.01 = 838.91$$

$$2.3988 \div 0.01 = 239.88$$

$$9.9 \times 0.01 = 0.099$$

$$4.3 \times 0.01 = 0.043$$

$$5.79 \div 0.01 = 579$$

$$3.9025 \div 0.01 = 390.25$$

$$4.88 \div 0.01 = 488$$

$$7.91 \times 0.01 = 0.0791$$

$$8.638 \div 0.01 = 863.8$$

$$0.83 \div 0.01 = 83$$

$$5.209 \times 0.01 = 0.05209$$

$$1.776 \times 0.01 = 0.01776$$

$$0.66 \div 0.01 = 66$$

$$2.81 \times 0.01 = 0.0281$$

$$6.38 \div 0.01 = 638$$

$$0.42 \div 0.01 = 42$$

Multiply and Divide by 0.01 (I)

Find each product or quotient.

$$2.523 \times 0.01 =$$

$$2.032 \div 0.01 =$$

$$7.6 \times 0.01 =$$

$$6.6851 \times 0.01 =$$

$$3.37 \times 0.01 =$$

$$2.8 \times 0.01 =$$

$$2.471 \div 0.01 =$$

$$7.38 \div 0.01 =$$

$$2.57 \div 0.01 =$$

$$6.49 \times 0.01 =$$

$$9.4 \div 0.01 =$$

$$0.982 \times 0.01 =$$

$$5.2 \div 0.01 =$$

$$2.5506 \div 0.01 =$$

$$1.6751 \div 0.01 =$$

$$9.186 \times 0.01 =$$

$$6.833 \times 0.01 =$$

$$3.73 \times 0.01 =$$

$$4.49 \times 0.01 =$$

$$1.58 \times 0.01 =$$

Multiply and Divide by 0.01 (I) Answers

Find each product or quotient.

$$2.523 \times 0.01 = 0.02523$$

$$2.032 \div 0.01 = 203.2$$

$$7.6 \times 0.01 = 0.076$$

$$6.6851 \times 0.01 = 0.066851$$

$$3.37 \times 0.01 = 0.0337$$

$$2.8 \times 0.01 = 0.028$$

$$2.471 \div 0.01 = 247.1$$

$$7.38 \div 0.01 = 738$$

$$2.57 \div 0.01 = 257$$

$$6.49 \times 0.01 = 0.0649$$

$$9.4 \div 0.01 = 940$$

$$0.982 \times 0.01 = 0.00982$$

$$5.2 \div 0.01 = 520$$

$$2.5506 \div 0.01 = 255.06$$

$$1.6751 \div 0.01 = 167.51$$

$$9.186 \times 0.01 = 0.09186$$

$$6.833 \times 0.01 = 0.06833$$

$$3.73 \times 0.01 = 0.0373$$

$$4.49 \times 0.01 = 0.0449$$

$$1.58 \times 0.01 = 0.0158$$

Multiply and Divide by 0.01 (J)

Find each product or quotient.

$$7.99 \times 0.01 =$$

$$7.4 \times 0.01 =$$

$$5 \div 0.01 =$$

$$2.2 \times 0.01 =$$

$$8.9008 \times 0.01 =$$

$$2.3 \div 0.01 =$$

$$9.09 \times 0.01 =$$

$$3.422 \div 0.01 =$$

$$2.06 \div 0.01 =$$

$$1.075 \times 0.01 =$$

$$5.297 \div 0.01 =$$

$$8.0495 \times 0.01 =$$

$$1.8904 \times 0.01 =$$

$$0.8 \div 0.01 =$$

$$1.14 \div 0.01 =$$

$$7.48 \times 0.01 =$$

$$4.31 \times 0.01 =$$

$$2.091 \times 0.01 =$$

$$5.467 \div 0.01 =$$

$$7 \div 0.01 =$$

Multiply and Divide by 0.01 (J) Answers

Find each product or quotient.

$$7.99 \times 0.01 = 0.0799$$

$$7.4 \times 0.01 = 0.074$$

$$5 \div 0.01 = 500$$

$$2.2 \times 0.01 = 0.022$$

$$8.9008 \times 0.01 = 0.089008$$

$$2.3 \div 0.01 = 230$$

$$9.09 \times 0.01 = 0.0909$$

$$3.422 \div 0.01 = 342.2$$

$$2.06 \div 0.01 = 206$$

$$1.075 \times 0.01 = 0.01075$$

$$5.297 \div 0.01 = 529.7$$

$$8.0495 \times 0.01 = 0.080495$$

$$1.8904 \times 0.01 = 0.018904$$

$$0.8 \div 0.01 = 80$$

$$1.14 \div 0.01 = 114$$

$$7.48 \times 0.01 = 0.0748$$

$$4.31 \times 0.01 = 0.0431$$

$$2.091 \times 0.01 = 0.02091$$

$$5.467 \div 0.01 = 546.7$$

$$7 \div 0.01 = 700$$